
Science Answer 08 
 

 

1-  2  6-  1  11-  3 
2-  4  7-  3  12-  1 
3-  3  8-  2  13-  3 
4-  3  9-  1  14-  3 
5-  3  10-4  15-  2 
 

01) . 
A) . 

i. #oiy ghJfhj;jy; 

( jhtuq;fs;/tpyq;Ffs;) 
jdJ ghJfhg;Gg; gw;wp ftdk; nrYj;Jjy;

ii. a. fhu;j;jpifg; G+r;nrb ,iy

iii. 1. fs;sp 2. ,Q;rp

(NtW nghUj;jkhd tpilfs;)

iv. 1. fhw;Wf;FupaNtu; 

B) . 
i. khg;nghUs; Nrjid 

nra;ag;gl;Ls;sjh 

ii. a. capu;f;fyq;fis ,wf;fr; nra;jy;

b. gr;iraj;ij ePf;Fjy;

iii. ,iyapy; fUePy epwk; cz;lhFjhy;

iv. fhgdPnuhl;irl;L > FSNfR

02) . 
i. epiwAUkhw;wk;> FiwAUkhw;w

ii. epiwAUkhw;wk; 

iii. ,sk; ,iyfs;> mKjk;
ghjj;jpdhy; mirjy;> rpwF %yk; gwj;jy;

iv. a. Ks;se;jz;byp 

b. Mj;jpuNghl 

c. ntl;Lf;fpsp> fug;ghd;G+r;rp> Njdp> Njs;
NtW nghUj;jkhd tpilfs;
  

03)  xyp> xsp> tAf;fis> tsp> nrg;Gry;Ngw;W> mlu;j;jp> my;Y
 G+ry;kh> kzy;> ngw;Nwhy;> gpufhr tyak;

  

gFjp-I 

  16-  1 
  17-  4 
  18-  1 
  19-  3 
  20-  2     

gFjp-II 

#oiy ghJfhj;jy; / #oypy; cs;s mq;fpfSf;F Nrjk; Vw;gLj

tpyq;Ffs;)  
jdJ ghJfhg;Gg; gw;wp ftdk; nrYj;Jjy;  (2 Gs;spfs;)

fhu;j;jpifg; G+r;nrb ,iy   b. jpUthj;jp  (2 Gs;spfs;)

2. ,Q;rp 3. fpj;Js; / jpg;gpypg;gid 
(NtW nghUj;jkhd tpilfs;)    (3 Gs;spfs;)

  2. VWk; Ntu;/gw;Wk; Ntu;  

(3 Gs;spfs;)

khg;nghUs; Nrjid / jhtu ,iyapy; xspj;njhFg;G %yk; czT cw;gj;jp 

      (1 Gs;spfs;)

capu;f;fyq;fis ,wf;fr; nra;jy; 
ePf;Fjy;      (2 Gs;spfs;)

,iyapy; fUePy epwk; cz;lhFjhy;   (1 Gs;spfs;)

fhgdPnuhl;irl;L > FSNfR    (2 Gs;spfs;)

epiwAUkhw;wk;> FiwAUkhw;wk;    (2 Gs;spfs;)

      (1 Gs;spfs;)

,sk; ,iyfs;> mKjk; 
ghjj;jpdhy; mirjy;> rpwF %yk; gwj;jy;  (4 Gs;spfs;)

      (1 Gs;spfs;)

      (1 Gs;spfs;)

ntl;Lf;fpsp> fug;ghd;G+r;rp> Njdp> Njs; 
NtW nghUj;jkhd tpilfs;   (2 Gs;spfs;)

       

xyp> xsp> tAf;fis> tsp> nrg;Gry;Ngw;W> mlu;j;jp> my;YNyhfk;> 
G+ry;kh> kzy;> ngw;Nwhy;> gpufhr tyak;    
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  (2X20= 40Gs;spfs;) 

#oypy; cs;s mq;fpfSf;F Nrjk; Vw;gLj;jkypUj;jy; 

2 Gs;spfs;) 
2 Gs;spfs;) 

Gs;spfs;) 
 3. kpz;b Ntu; 

Gs;spfs;) 

jhtu ,iyapy; xspj;njhFg;G %yk; czT cw;gj;jp 

Gs;spfs;) 

Gs;spfs;) 
Gs;spfs;) 
Gs;spfs;)   

(16 Gs;spfs;) 

Gs;spfs;) 

Gs;spfs;) 

Gs;spfs;) 

Gs;spfs;) 

Gs;spfs;) 

Gs;spfs;) 
  (11 Gs;spfs;) 

Nyhfk;>  
  (11 Gs;spfs;) 
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04) . 

1. Efu;NthUf;F 
2. czT gOjiljy; 
3. tsp> ePu;> ntg;gepiy 
4. ew;fhg;G 
5. czT eQ;rhjiyj; jLj;jy; 
6. GifA+l;ly; 
7. cyu;e;j kzypyply; 
8. nrwpthf;fy; 
9. ngf;bd; 
10. ful;bd; 
11. czTr;rl;lfj;jpdhy;        (11 Gs;spfs;) 

 
05)  A. 

1. njhlu; ,idg;G> rkhe;ju ,idg;G    (2 Gs;spfs;) 
2.  

i. Msp       (1 Gs;spfs;) 
ii. .        (1 Gs;spfs;) 
iii. a. nrUFrhtp 
iv. b.  p, q ,w;fpilapy; nrUFNfhy; / rhtpia Eiog;gjdhy; 

(2 Gs;spfs;) 
3. i. rkhe;ju ,idg;gpy;      (1 Gs;spfs;) 

ii.gpufhrj;jpy; khw;wkpy;iy V khwhjjhy;  I khwhJ (2 Gs;spfs;) 
4. ntg;gtpisT> xsptpisT> ,urhad tpisT 

NtW nghUj;jkhd tpilfs;    (2 Gs;spfs;) 
           (11 Gs;spfs;) 

06) . 
A.  

i. #upa fpufzk;      (1 Gs;spfs;) 
ii. #upa fpufzk;> re;jpu fpufzk;    (2 Gs;spfs;) 

#upa fpufzk; - mkhtir jpdk; 
re;jpu fpufzk; - ngsu;zkp jpdk;   (2 Gs;spfs;) 

iii. 1955        (1 Gs;spfs;) 
iv. mg;gNyh II      (1 Gs;spfs;) 

B. . 
i. tul;rp> kz;rupT> nts;sg;ngUf;F> kpd;dy; jhf;fk; (2 Gs;spfs;) 
ii. ngUj;jkhd tpilf;F     (2 Gs;spfs;) 

(11 Gs;spfs;) 

 


